a a R & tre frazioni, ordine delle operazioni

Nome: Data: Punteggio:
1 1 1 1
27373 0=8+%
4240 = belo2.
2 3 2 3
1 3 1 I 1 1
—_— — X = = — X =4 — =
2 5 6 2 4 5
3 1
I8+-6+ - = —+48 +6=
2 2
1 3 3 1
100+ 10+ = = -t =X ==
W=10+3 27573
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a é a R & tre frazioni, ordine delle operazioni

Nome: Data: Punteggio:
1X1+1_1 80*8+1—61—101
2 3 3 2 6 6 6
3 7 1 I 1 2 1
4+2+ = - =3= =X == ==(—=2)
2 2 2 3 2 3 2
1 3 1 2 I 1 1 13
—_ — — X — = = _ X _-F - =
2 5 6 5 2 4 5 40
3 9 1 | 17 1
I8+6+—-=—-=4-— —+48+6= — = 8=
2 2 2 8 2 82
1 1 1 1
100+10+l=3—=10— E-|-§><1=8—=13—
3 3 3 2 5 5 50 50
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